GME MODEL QUESTION PAPER

Note:

Please note that you will find sample question/previous years questions below. Each
section will have a sample of 30 questions so as to give you an idea. Correct answers are
highlighted or specified below the question for your reference.

Section A: Mechanical Engineering
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Section B — General Aptitude

1.

113. The number 367505%8 is completely divisible by 8. What is the smallest whole
number in place of *?

Al B.3
C.2 D. 4

Hide Answer Discuss

answer with explanation

Answer: Option C

3 6
7. Which of the following fractions is greater than 5 and less than - ?
A, B.

(& D.

w| o |~
| = 00| ~1

Hide Answer Discuss

answer with explanation

Answer: Option C

44. What least number should be subtracted from 13601 such that the remainder is
divisible by 87 ?

A 28 B. 27

C.29 D.30

Hide Answer Discuss

answer with explanation

Answer: Option C



4. The captain of a cricket team of 11 members is 26 years old and the wicket keeperis 3
vears older. If the ages of these two are excluded, the average age of the remaining plavers
is one vear less than the average age of the whole team. Find out the average age of the

team.
A. 21 years B. 23 vears
C. 24 years D. 20 vears

Hide Answer Discuss

answer with explanation

Answer: Option B

17. A batsman makes a score of 87 runs in the 17th innings and thus increases his average
by 3. What is his average after 17th innings?

A 35 B. 40.5

C. 39 D. 42

Hide Answer Discuss

answer with explanation

Answer: Option C

21. How many litres of pure acid are there in 8 litres of a 20% solution?

A. 1.6 litres B. 1.4 litres
C. 1litres D. 2 litres

Hide Answer Discuss

answer with explanation

Answer: Option A

2. If A — % of y and B — y% of =, then which of the following is true?

A. None of these

B. A is smaller than B.
C. Relationship between A and B cannot be determined.

D. If  is smaller than ¥, then A is greater than B.
E. A is greater than B.

Hide Answer | Discuss

answer with explanation

Answer: Option A



8.
6. The price of commodity P increases by 40 paise every year, while the price of
commodity Q increases by 15 paise every vear. If in 2001, the price of commodity P was
Rs. 4.20 and that of Q was Rs. 6.30, in which vear commodity P will cost 40 paise more
than the commodity Q ?
A. 2011 B. 2010
C. 2008 D. 2009
Hide Answer Discuss
answer with explanation
Answer: Option A
9.

27. The fraction 101 in decimal for is

100000

A. o .01027
B. o 10127
C.  101.00027

D. O 101.000027

Answer 8. Soltion ——

Answer & Solution

Answer: Option C
Solution:

101 27
100000

27
100000
= 101 + .00027

= 101.00027

= 101 +

10.



11.

12.

13. A and B can finish a work 30 days if they work together. They worked together for 20
days and then B left. A finished the remaining work in another 20 days. In how many days
A alone can finish the work?

A 30 B. 50
C. 60 D. 40

Hide Answer Discuss

answer with explanation

Answer: Option C

16. P, Q and R can complete a work in 24, 6 and 12 days respectively. The work will be
completed in --- days if all of them are working together.

A.3% B.2
C.5 D.4 s

Hide Answer Discuss

answer with explanation

Answer: Option A

Study the Graphical Representation and choose the best answer option for the question :

Monthly family expenses distributed by expense category and economical class
(Poor-15-20K, Middle class-30-70K, Rich-150+)
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Rich families spend

of money on food as poor and middle class families combined.

A. More than twice the amount

B. An equal amount

C. More than three times the amount

D. Half the amount

Rich families spend £5,500 monthly on food, whereas Poor families spend £1000 and middle

class families spend £1,500. Combined poor and middle class families spend £2,500 on food,
which is less than half the amount spent by the rich families. Therefore, rich families spend
more than twice (but less than 3 times) as much money on food than poor and middle class

families spend combined.

13.

Study the Graphical Representation and choose the best answer option for the question :

Label Heading
Patients
(%)
70
50 /’\\\ /.
50
=
mo 40
m
%
30
20
10 —_—
0 f f f f 1| Horizontal axis
1985 1990 1995 2000 2005
Legend | —e—Depression =M= Anxiety Bipalar oco




Question : In which year were the percentage of depression patients were equal to sum of the
percentage patients of Anxiety and Bipolar mental disorder.

Options :

A. 1985

B. 1995

C. 2000

D. 2005
Correct Answer : C

14. Study the following graph carefully and answer the questions that follow:
Production of steel by different companies in three consecutive years (in lakh tonnes).

90

a0
B0

70 F0 70
70

60 55

30 30

45 1994
a5 B1395
1956

30 A

40 -

el

20 -

10 -

A B c D E F

102. What is the percentage decline in production by company C from 1995 t0 19967

A.5% B.20%
C.15% D.12.50%

E. None of these
? View Answer ~ Workspace AReport g- Discuss

Answer & Explanation
Answer: Option D
Explanation:

Percentage decline = (40 - 35)/40 * 100 = 12.50%.



15.

4. Inspite of our best efforts, we failedto...... any new facts from him.

A. ) elicit

m

. () evoke

C. 0 eject

o

. O enlist
Answer & Solution

Answer: Option A
Solution:
Inspite of our best efforts, we failed to elicit any new facts from him.

16.

Choose the correct meaning of the underlined idiom/phrase in the sentence:

1. The detective /eft no stone unturned to trace the culprit.

A. ¢ took no pains
B. ~ did very irrelevant things
C. O resorted to illegitimate practices

D. /) used all available means

Answer & Solution Save for Later

Answer & Solution

Answer: Option D
Solution:
left no stone unturned: try every possible course of action in order to achieve something.

Comprehension

Holi celebrations start on the night before Holi with a Holika Dahan where people gather, perform
religious rituals in front of the bonfire, and pray that their internal evil be destroyed the way Holika,
the sister of the demon king Hiranyakashipu, was killed in the fire. The next morning is celebrated as



Rangwali Holi — a free-for-all festival of colours, where people smear each other with colours and
drench each other. Water guns and water-filled balloons are also used to play and colour each other.
Anyone and everyone is fair game, friend or stranger, rich or poor, man or woman, children and
elders. The frolic and fight with colours occurs in the open streets, open parks, outside temples and
buildings. Groups carry drums and other musical instruments, go from place to place, sing and
dance. People visit family, friends, and foes to throw coloured powders on each other, laugh and
gossip, then share Holi delicacies, food and drinks. Some customary drinks include bhang (made
from cannabis), which is intoxicating. In the evening, after sobering up, people dress up and visit
friends and family.

17. Why is Holika Dahan performed?

a. Because it is quite cold and everyone loves bonfire

b. Because it symbolizes the end of destruction of the evil of our foes
C. Because it symbolizes the end of destruction of our internal evil

d. Because Holika was king Hiranyakashipu’s sister

Answer: C

18. Choose the statement(s) that summarize the entire passage

i. There are two types of Holi — Holika Dahan & Rangwali Holi
ii. People do not celebrate it with their foes

iii. Food and Drinks are the heart of Holi celebrations

iv. Holi symbolizes the destruction of our inner evil and demons
a. (i), (ii), (iii), (iv)

b. (i), (ii), (iv)

C. (i), (iii), (iv)

d. (i), (ii), (iii)

Answer : C

19. Which word in the passage means “traditional”?

a. Customary

b. Frolic

C. Celebrations

d. None of the above
Answer: A

20. Describe the type of adjective of the highlighted word -

“People visit family, friends and foes to throw coloured powders on each other, laugh and gossip,
then share Holi delicacies, food and drinks.”



a. adjective of quality

b. adjective of quantity

C. numeral adjective

d. demonstrative adjective
Answer : A

21.

4. ldentify the figure that completes the pattern.

oo w»
TN

Answer: Option D

Explanation:

[ View Answer 28 Discuss in Forum 3 Workspace v, Report

22.



3. Select a suitable figure from the Answer Figures that would replace the question mark (7).

Problem Figures: Answer Figures:
YIA ™ 2] (2w ||
(A) (B (©) (D) m @ 6 @ O
A1

B. 2

c. 3

D. 4

E. 5

Answer: Option A
Explanation:

The figure gets vertically inverted.

[ View Answer 22 Discuss in Forum T3 Workspace +, Report

23.

4. A series of figures are given which can be grouped into classes. Select the group

into which the figures can be classified.

ABIAQOET

1 34 9

[+

O A134 259 678

O B.123 456 789

O C.1592 247 36,8

O D378 165 429

o View Hint & View Answer @ Discuss in Forum

Correct Option: A

As we can see that,

Figures (1), (3) and (4) : having three sides .
Figures (2), (5) and (9) : having five sides .
Figures (6), (7) and (8) : having four sides .

As shown in given below .



24,

25.

19. Choose the alternative which is closely resembles the mirror image of the given combination.

QUALITY
(1) ONVTILA (2) yTiLAuQ
(3) YTIJAUO (4) YTIJANO

o o wp

oW N

Answer: Option €

Explanation:
No answer description available for this guestion. Let us discuss.

[ View Answer 22 Discuss in Forum T3 Workspace :, Report

20. Choose the alternative which is closely resembles the mirror image of the given combination.

Nu56p7uR

(1) lueéadqiuA (2) AnYgdcnK
(3) AuYgdcuM (4) Auvd9cuM
A1

B. 2

c. 3

D. 4

Answer: Option C

Explanation:

No answer description available for this question. Let us discuss.

[ View Answer 22 Discuss in Forum T3 Workspace +, Report
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27.

13- Find the number of triangles in the given figure.

Answer: Option C
Explanation:

The figure may be labelled as shown.

A E B
H -
D G C

The simplest triangles are AEH, EHI, EBF, EFI, FGC, IFG, DGH and HIG

i.e. 8 in number.

The triangles composed of two components each are HEF, EFG, HFG and
EFGi.e. 4 in number.

Thus, there are 8 + 4 = 12 triangles in the figure.

Bl View Answer &% Discuss Workspace © Report



28.

10- Select a suitable figure from the four alternatives that would complete the

figure matrix.

Pt
Lo e g
IRIESLR!

P =

1) (2 () (4)

Answer: Option A

Explanation:

BB View Answer =2 Discuss Workspace O Report

29.

1% Choose the box that is similar to the box formed from the given sheet of
paper (X).

o A
M
!_ = < =~
(1) (2) (3) (4)

(x)

A. 1and2only
E. 1,2and4 only
C. 1and4only

D. 1,2and 3 only

Answer: Option B

Explanation:

AF View Answer == Discuss Workspace © Report



30.

How many blocks are in this tower?

A.55
B. 26
C.25

D. 41
Answer: A
There are 55 blocks in this tower. Make sure to count the blocks in the middle of each level that you can't see. However,

if you try to count each one individually, you'll waste a lot of time. Instead, count the blocks on either side and multiply
them together to find the total number of blocks on each level.






